Gallup Omnibus Data 1970, omnibus nr. 05

DDA-1319

Indholdsfortegnelse

Variabelliste

vi7 DDA STUDY NUMBER
V27 YEAR

V3 7005 OMNIBUS NUMBER
V4 7005 SEQUENCE NUMBER
V5 7005 WEIGHT VARIABLE
V6 7005 MONTH

V7 7005 URBANIZATION

V8 7 SEX

Vo 7 AGE

vio 7 MARITAL STAT

V11 7005 OCCUPATION RESPOND.

V12 7005 EDUCATION
V13 7005 INCOME RESPONDENT
V14 7005 TOTAL FAMILY INCOME

V15 7005 OCCUPATION SUPPORT.

vie 7 H EHOLD SIZE
viz 7 TYPE OF DWELLIN

vig 7 HILDREN < 1

V19 7005 ADULTS >= 15

V20 7005 POS. HEAD OF FAMILY
V21 7005 POS. HOUSEWIFE

V22 7005 POS. OTHER ADULT
V23 7005 HOUSEWIFE'S POSITI.
V24 7 IAL GROUP

V257 LAST ELECTION VOTE
V26 7005 PARTY AFFILIATION
V27 7005 USA/USSR STRONGEST
V28 7005 USA/USSR MILITARY
V29 7005 USA/USSR IN 10 YEAR
V30 7005 USA/USSR DETENTE
V317 ISRAEL/ARAB STATES
V327 ELECT. AGE 20 OR 21
V337 ELECT. AGE 18 OR 21
V34 7005 GOV. PERFORMANCE
V35 7005 PREF.:HOUSING

V36 7005 PREF.:ECONOMIC

V37 7005 PREF.:POLLUTION
V38 7005 PREF.:TRAFFIC

V397 PREF.: IAL SERVI.
v40 7 PREF.:HEALTH SERVI.
va1 7 PREF.: FOREIGN AID

V42 7005 GOV.:MOST INFLUENCE

V43 7005 GOV.:LESS INFLUENCE
V44 7005 GOV: IN OFFICE

V45 7005 NEW NON-SOCIAL.GOV.

V46 7005 PARTY BEST EMPLOYM.
v47 7 PARTY BEST .SEC.
v48 7 PARTY BEST EMPLOYEE
V49 7005 PARTY BEST UNPREJU.
V50 7005 PARTY BEST ECONOMY
V51 7005 P.A.Y.E. TAX

V52 7005 DIS.:NONE

V53 7005 DIS.:ADMINISTRATION

Revision: 395



V54 7005 DIS.:IMPRACTICAL
V557 DIS.:IND. TAXATION
V56 7005 DIS.:EMPLOYERS

V57 7005 DIS.:COLLECTION

V58 7005 DIS.:NO FREEDOM
V59 7005 DIS.:OVERTIME TAX
V60 7005 DIS.:PENSIONERS TAX
V61 7005 DIS.:2 TAX RETURNS
V62 7 DIS.:OTHER

V63 7 DIS.:DON'T KNOW
V64 7005 TAX RELIEFS

V65 7005 AGAI.:NO COMPENSAT.
V66 7005 AGAIL.:LABOUR AGREE.
V67 7005 AGAL.:WAGE EARNERS
V68 7005 AGAIL.:PRICES/WAGES
V69 7 AGAIL.:FIXED PRICES
V707 AGAL.: T-OF-LIVI.
V71 7005 AGAI.:NOT FAIR

V72 7005 AGAI.:OTHERS

V73 7005 AGAIL.:DON'T KNOW

Variabler

e V1 7005 DDA STUDY NUMBER
= Double (0 decimaler)
| |

Gyldige 1278
Manglende 0
Minimum 1319
Maximum 1319
Gennemsnit 1319
Median 1319

Standardafvigelse 0

e V2 7005 YEAR

= Double (0 decimaler)
n

Gyldige 1278
Manglende 0
Minimum 1970
Maximum 1970
Gennemsnit 1970
Median 1970

Standardafvigelse 0

e V3 7005 OMNIBUS NUMBER

The sequence number of the survey within the year. This variable has the value 05 for all respondents. It was gene
rated by the DDA.

o Omnibus number

= Double (0 decimaler)

| |
Gyldige 1278
Manglende 0
Minimum 5
Maximum 5
Gennemsnit 5
Median 5
Standardafvigelse 0

e V4 7005 SEQUENCE NUMBER
The sequence number of the respondent within the data file. The variable has been generated by the DDA.

o Sequence number



= Double (0 decimaler)

Gyldige 1278
Manglende 0
Minimum 1
Maximum 1278
Gennemsnit 640
Median 640

Standardafvigelse 369

e V5 7005 WEIGHT VARIABLE

Originally, the data material was card weighted, i.e. some cases occurred more than once. The duplicate cases have
been removed (on the basis of a comparison of the entire case after conversion to character format), and a number
has been inserted in the 'original' case indicating the number of times it occurred in the card weighted data file.

o Duplicate indicator/weight variable

% MD% Antal Kode Kategori

55 55 697 1 case not
duplicated

37 37 475 2 one duplicate

7 7 89 3 two
duplicates

1 1 17 4 three
duplicates

100 100 1278
Svarprocent: 100

e V6 7005 MONTH
o Questions occurring in al

o 1. Month:

% MD% Antal Kode Kategori
100 100 1278 5 May
100

Svarprocent: 100

e V7 7005 URBANIZATION
o Questions occurring in al

o 8. Urbanization:

% MD% Antal Kode Kategori
17 17 214 1 capital
8 8 101 2 suburbs

37 37 468 3 provincial
towns

39 39 495 4 rural districts
100 100 1278

Svarprocent: 100

e V8 7005 SEX
o Questions occurring in al

o 12a. Sex:

% MD% Antal Kode Kategori

49 49 621 1 man

51 51 657 2 woman
100 100 1278



Svarprocent: 100

e V9 7005 AGE
o tions occurring in al

o 12b. Age:

% MD% Antal Kode Kategori
7 7 91 115 - 19 years
7 7 88 2 20 - 24 years
9 9 117 3 25 - 29 years
14 14 182 4 30 - 34 years
19 19 246 5 35 - 39 years
24 24 308 6 40 - 49 years
19 19 246 7 50 - 64 years
100 100 1278

Svarprocent: 100

e V10 7005 MARITAL STATUS
o Questions occurring in al

o 12c. Marital status:

% MD% Antal Kode Kategori
16 16 202 1 single
70 70 892 2 married
14 14 184 3 previously
married
100 100 1278

Svarprocent: 100

e V11 7005 OCCUPATION RESPOND.
o ion rring in al

o 13. Respondents occupational status:

% MD% Antal Kode Kategori

15 15 188 1 worker,
unskilled
10 10 125 2 worker,
skilled
12 12 151 3 salaried
employees,
lower grade
5 5 64 4 other
salaried
persons
8 8 99 5 farmer,
independent
3 3 33 6 independent
shopkeeper
or artisan
4 4 46 7 other
independent
7 7 87 8 apprentice,
pupil,
student etc.
18 18 225 9 pensioner or
other
persons
without
occupation
20 20 260 10 married
women
without
employment



100 100 1278
Svarprocent: 100

e V12 7005 EDUCATION
o Questions occurring in al

o 14a. Education:

% MD% Antal Kode Kategori

74 74 941
20 20 251
5 5 70

1 1 16
100 100 1278

Svarprocent: 100

1 elementary school

2 junior highschool

3 highschool/university
4 won't answer

e V13 7005 INCOME RESPONDENT
o Questions occurring in al

o 14b. Income of respondent:

% MD% Antal Kode Kategori

22 22 287
20 20 254
10 10 130
11 11 139
10 10 133
17 17 213
10 10 122
100 100 1278

Svarprocent: 100

10 D.Kr.

20-11,999
D.Kr.

312,000 -
17,999 D.Kr.

4 18,000 -
25,999 D.Kr.

526,000 -
33,999 D.Kr.

6 34,000 D.Kr.
or more

7 won't answer

e V14 7005 TOTAL FAMILY INCOME
o Questions occurring in al

o 15. Total income of family:

% MD% Antal Kode Kategori

9 9 121

9 9 118
11 11 144
12 12 156
17 17 211
23 23 288
19 19 240
100 100 1278

Svarprocent: 100

10-11,999
D.Kr.

212,000 -
17,999 D.Kr.

3 18,000 -
25,999 D.Kr.

4 26,000 -
33,999 D.Kr.

5 34,000 -
45,999 D.Kr.

6 46,000 D.Kr.
or more

7 won't answer

e V15 7005 OCCUPATION SUPPORT.

o tions occurrin

in al

o 16. Supporters occupation:

% MD% Antal Kode Kategori

16 16 204

1 worker,
unskilled



15 15 194 2 worker,
skilled

13 13 166 3 salaried
employees,
lower grade

8 8 102 4 other
salaried
persons

14 14 174 5 farmer,
independent

4 4 54 6 independent
shopkeeper
or artisan

7 7 84 7 other
independent

2 2 22 8 apprentice,

pupil,
student etc.

21 21 262 9 pensioner or
other
persons
without
occupation

1 1 15 10 married
woman
without
employment

0 1 99 Uoplyst
100 100 1278

Svarprocent: 100

e V16 7005 HOUSEHOLD SIZE
o Questions occurring in al

o 17a. Total number of persons (in household):

% MD% Antal Kode Kategori
15 15 197 11 person

31 31 390 2 2 persons
20 20 256 3 3 persons
19 19 240 4 4 persons
10 10 126 5 5 persons

5 5 66 6 6 persons or
more

0 1 8

0 2 9 Uoplyst
100 100 1278
Svarprocent: 100

e V17 7005 TYPE OF DWELLING
o ion rring in al

o 17b. Type of dwelling:

% MD% Antal Kode Kategori

34 36 437 1 own house
11 12 144 2 rented house
15 16 194 3 own

farm/rented
farm
34 35 432 4 apartment in
privat home
1 1 17 5 apartment
4 54 9 Uoplyst

100 100 1278
Svarprocent: 96



e V18 7005 CHILDREN < 15
o Questions occurring in al

o 18a. Number of children under 15 years:

% MD% Antal Kode Kategori

18 44 235 11 child

16 37 199 2 2 children
5 13 69 3 3 children

3 7 36 4 4 or more
children
58 739 9 Uoplyst

100 100 1278
Svarprocent: 42

e V19 7005 ADULTS >= 15
o Questions occurring in al

o 18b. Number of adults in household (15 years or more):

% MD% Antal Kode Kategori
16 16 210 11 adult
56 57 722 2 2 adults
16 16 209 3 3 adults

11 11 136 4 4 adults or
more

0 0 0 9 no answer
0 1 8
100 100 1278
Svarprocent: 100

e V20 7005 POS. HEAD OF FAMILY
o Questions occurring in al

o 18c. Respondents position in household: Head of the family

% MD% Antal Kode Kategori

49 49 621 0 not
mentioned

51 51 657 1 mentioned
100 100 1278

Svarprocent: 100

e V21 7005 POS. HOUSEWIFE
o ion rring in al

o 18c. Respondents position in household: Housewife

% MD% Antal Kode Kategori

54 54 692 0 not
mentioned

46 46 586 1 mentioned
100 100 1278

Svarprocent: 100

e V22 7005 POS. OTHER ADULT
o Questions occurring in al

o 18c. Respondents position in household: Other adult

% MD% Antal Kode Kategori

86 86 1096 0 not
mentioned



14 14 182 1 mentioned
100 100 1278

Svarprocent: 100

¢ V23 7005 HOUSEWIFE'S POSITI.
o ion rring in al

o 19a. Position of housewife:

% MD% Antal Kode Kategori
7 7 85 1 no housewife

54 54 689 2 housewife
without
employment

16 16 208 3 housewife
with full-time
employment

15 15 192 4 housewife
with part-
time
employment

8 8 104 5 housewife
who helps
husband

100 100 1278
Svarprocent: 100

e V24 7005 SOCIAL GROUP
o tion rring in al

o 19b. Social group:

% MD% Antal Kode Kategori
65 65 836 1 groupl
31 31 401 2 group II
3 3 40 3 group III
0 1 8
100 100 1278

Svarprocent: 100

e V25 7005 LAST ELECTION VOTE
o Questions occurring in al

o 20/21. Did you vote at the last general election (January 1968). - Which party did you vote for?

% MD% Antal Kode Kategori

33 34 423 1 Socialdemokratiet
9 10 121 2 Radikale

13 13 164 3 Konservative

13 13 167 4 Venstre

0 0 2 5 Retsforbundet

1 1 9 6 Kommunister

0 0 4 7 De Uafhaengige

3 3 38 8 Socialistisk
Folkeparti

0 0 3 9 Liberalt Centrum

0 0 3 10 Slesvigsk Parti

0 0 3 11 Venstresocialisterne

4 4 53 12 don't remember
which party, won't
answer

1 1 13 13 refuse to answer if
voted

10 11 134 14 no right of voting



3 3 35 15 would not vote
3 3 44 16 other reasons
3 3 44 17 won't answer
1 9 88

1 9 99 Uoplyst

100 100 1278
Svarprocent: 99

e V26 7005 PARTY AFFILIATION
o Questions occurring in al

o 22/23. For which party would you vote in case of general election tomorrow?

% MD% Antal Kode Kategori

35 36 447 1 Socialdemokratiet
8 8 101 2 Radikale

12 12 152 3 Konservative

12 12 154 4 Venstre

0 0 1 5 Retsforbundet

1 1 11 6 Kommunister

0 0 3 7 De Uafhaengige

3 3 37 8 Socialistisk
Folkeparti

0 0 2 9 Liberalt Centrum

0 0 1 10 Slesvigsk Parti

0 0 11 Venstresocialisterne

9 10 119 12 don't know which

party

6 6 73 13 no right of voting

3 3 41 14 would not vote

1 1 17 15 don't know whether
would vote or not

5 5 62 16 refuse to answer
which party

2 2 21 17 refuse to answer
whether would vote
or not

1 11 88

1 19 99 Uoplyst

100 100 1278
Svarprocent: 98

e V27 7005 USA/USSR STRONGEST
o Questions occurring in om
o 60a. The basis of the so-called terror balance is that the two giant powers the United States and the Soviet Union hold

each other in chess due to their overwhelming military power. What would you prefer: that the United States were
strongest or the Soviet Union?

% MD% Antal Kode Kategori
30 30 379 1 USA

40 40 505 2 USA and the
Soviet Union

5 5 64 3 equally

strong
24 25 313 4 the Soviet
Union
0 0 0 5 don't know
6 8
1 11 9 Uoplyst

100 100 1278
Svarprocent: 99

¢ V28 7005 USA/USSR MILITARY
o ion rring in om



o 60b. Which of the two giant powers the United States and the Soviet Union do you think is the strongest from a military
point of view?

% MD% Antal Kode Kategori
34 34 431 1 USA
14 14 173 2 the Soviet

Union
22 22 277 3 equally
strong
30 30 382 4 don't know
0 4 8
1 11 9 Uoplyst

100 100 1278
Svarprocent: 99

¢ V29 7005 USA/USSR IN 10 YEAR
o Questions occurring in om

o 60c. Which of the two countries do you think is the strongest in 10 years?
% MD% Antal Kode Kategori

16 17 208 1 USA
16 16 200 2 the Soviet

Union
16 16 207 3 equally
strong
50 51 645 4 don't know
1 18 9 Uoplyst

100 100 1278
Svarprocent: 99

e V30 7005 USA/USSR DETENTE
o Questions occurring in om

o 61a. The Great Powers are having talks at present trying to reach an agreement about a joint limitation of the so-called
armament race. Do you think that the two Great Powers will be able to reach an agreement or discontinuation of the
armaments?

% MD% Antal Kode Kategori
18 19 236 1 yes
59 60 754 2 no
22 22 277 3 don't know
0 1 8
1 10 9 Uoplyst
100 100 1278
Svarprocent: 99

e V31 7005 ISRAEL/ARAB STATES
o tions occurring in om

o 61b. Which of the parties, on the whole, is right in the dispute between Israel and the Arabian countries?

% MD% Antal Kode Kategori
44 44 561 1 Israel

5 5 61 2 the Arabian
countries

51 51 656 3 don't know
100 100 1278

Svarprocent: 100

e V32 7005 ELECT. AGE 20 OR 21
o Questions occurring in om

o 61c. And now a different question. If a referendum was going to be held and you might choose between an electoral
age of either 20 or 21 years, what would you vote for then?



% MD% Antal Kode Kategori
46 46 590 1 20 years
48 48 617 2 21 years
6 6 71 3 don't know
100 100 1278

Svarprocent: 100

e V33 7005 ELECT. AGE 18 OR 21
o Questions occurring in om

o 61d. If you might choose between 18 or 21 years, what would you vote for then?

% MD% Antal Kode Kategori
21 21 264 1 18 years
74 74 951 2 21 years
5 5 63 3 don't know
100 100 1278

Svarprocent: 100

e V34 7005 GOV. PERFORMANCE
o Questions occurring in om

o 62a. Do you think that the present government has done well, fairly well or not well during the time in office?

% MD% Antal Kode Kategori
14 14 174 1 well
39 39 504 2 fairly well
39 39 499 3 not well
8 8 101 4 don't know
100 100 1278

Svarprocent: 100

e V35 7005 PREF.:HOUSING
o Questions occurring in om

o 62b. Which of these problems, in your opinion, should be given preference in order to solve it? The housing problem

% MD% Antal Kode Kategori
69 71 876 0 not

mentioned
28 29 354 1 mentioned
4 48 9 Uoplyst

100 100 1278

Svarprocent: 96
e V36 7005 PREF.:ECONOMIC
o tion rring in om

o 62b. Which of these problems, in your opinion, should be given preference in order to solve it? The economic problem

% MD% Antal Kode Kategori
45 46 569 0 not

mentioned
52 54 661 1 mentioned
4 48 9 Uoplyst

100 100 1278

Svarprocent: 96

e V37 7005 PREF.:POLLUTION
o Questions occurring in om



62b. Which of these problems, in your opinion, should be given preference in order to solve it? The pollution problem

% MD% Antal Kode Kategori
85 89 1090 0 not

mentioned
11 11 140 1 mentioned
4 48 9 Uoplyst

100 100 1278

Svarprocent: 96

e V38 7005 PREF.:TRAFFIC
o Questions occurring in om

o 62b. Which of these problems, in your opinion, should be given preference in order to solve it? The traffic problem

% MD% Antal Kode Kategori
92 96 1177 0 not

mentioned
4 4 53 1 mentioned
4 48 9 Uoplyst

100 100 1278

Svarprocent: 96

e V39 7005 PREF.:SOCIAL SERVI.
o Questions occurring in om

o 62b. Which of these problems, in your opinion, should be given preference in order to solve it? Development of the
social services

% MD% Antal Kode Kategori
88 92 1128 0 not

mentioned
8 8 102 1 mentioned
4 48 9 Uoplyst

100 100 1278

Svarprocent: 96

¢ V40 7005 PREF.:HEALTH SERVI.
o Questions occurring in om

o 62b. Which of these problems, in your opinion, should be given preference in order to solve it? Development of the
health services, i.e. hospitals and similar services

% MD% Antal Kode Kategori
89 93 1140 0 not

mentioned
7 7 90 1 mentioned
4 48 9 Uoplyst

100 100 1278

Svarprocent: 96

e V41 7005 PREF.: FOREIGN AID
o Questions occurring in om

o 62b. Which of these problems, in your opinion, should be given preference in order to solve it? Assistance to
development countries

% MD% Antal Kode Kategori
94 98 1203 0 not

mentioned
2 2 27 1 mentioned
4 48 9 Uoplyst

100 100 1278



Svarprocent: 96

e V42 7005 GOV.:MOST INFLUENCE
o Questions occurring in om
o 63a. The present government consists of three parties: the Liberals, the Conservatives and the Social Liberal Party.

Which of these three parties, in your opinion, has got the greatest influence on the policy pursued by the Government:
the Liberals, the Conservatives or the Social Liberal Party?

% MD% Antal Kode Kategori
7 8 95 1 the Liberals

30 31 389 2 the
Conservatives

18 18 228 3 the Social

Liberal Party
15 16 197 4 same
influence
27 28 351 5 don't know
0 6 8
1 12 9 Uoplyst

100 100 1278
Svarprocent: 99

e V43 7005 GOV.:LESS INFLUENCE
o Questions occurring in om

o 63b. Which of the parties has got less influence?

% MD% Antal Kode Kategori
31 33 401 1 the Liberals

6 6 80 2 the
Conservatives

13 13 160 3 the Social

Liberal Party
46 48 591 4 don't know
0 2 8
3 44 9 Uoplyst

100 100 1278
Svarprocent: 96

e V44 7005 GOV: IN OFFICE
o Questions occurring in om

o 64a. Do you think that the present government will remain in office for the full election period?

% MD% Antal Kode Kategori
58 59 745 1 yes
24 25 308 2 no
16 16 204 3 don't know
0 5 8
1 16 9 Uoplyst
100 100 1278

Svarprocent: 98

e V45 7005 NEW NON-SOCIAL.GOV.
o Questions occurring in om

o 64b. Do you think we get a new non-Socialist government, consisting of the three parties: the Liberals, the
Conservatives and the Social Liberal Party after the next election?

% MD% Antal Kode Kategori
20 20 253 1 yes
55 55 699 2 no
25 25 316 3 don't know
1 10 9 Uoplyst
100 100 1278



Svarprocent: 99

e V46 7005 PARTY BEST EMPLOYM.
o Questions occurring in om

o 65. And now some questions about the political parties. Which of the political parties, in your opinion, is doing the best
work as far as employment is concerned?

% MD% Antal Kode Kategori

44 45 566 1 the Social
Democratic
Party

4 4 52 2 the Social
Liberal Party

2 2 30 3 the
Conservatives

3 42 4 the Liberals

1 1 14 5 the Socialist
People's Party

0 0 4 6 other parties
43 43 545 7 don't know
1 15 8
1 10 9 Uoplyst
100 100 1278

Svarprocent: 98

e V47 7005 PARTY BEST SOC.SEC.
o ion rring in om

o 66. Which of the parties do you think is doing the best work regarding social security?

% MD% Antal Kode Kategori

47 48 607 1 the Social
Democratic
Party

4 4 53 2 the Social
Liberal Party

3 4 44 3 the
Conservatives

3 3 42 4 the Liberals

2 2 23 5 the Socialist
People's Party

0 0 6 6 other parties
37 38 479 7 don't know
1 11 8
1 13 9 Uoplyst
100 100 1278

Svarprocent: 98

e V48 7005 PARTY BEST EMPLOYEE
o Questions occurring in om

o 67. Which of the parties shows more favour to the employees?

% MD% Antal Kode Kategori

25 25 319 1 the Social
Democratic
Party

5 6 70 2 the Social
Liberal Party

21 21 263 3 the
Conservatives

3 3 40 4 the Liberals

0 0 5 5 the Socialist
People's Party

0 0 5 6 other parties
44 44 558 7 don't know



0 6 8
1 12 9 Uoplyst
100 100 1278

Svarprocent: 99

e V49 7005 PARTY BEST UNPREJU.
o tions occurring in om

o 68. Which of the parties is most unprejudiced?

% MD% Antal Kode Kategori

12 13 159 1 the Social
Democratic
Party

10 10 128 2 the Social
Liberal Party

5 5 60 3 the
Conservatives

5 5 67 4 the Liberals

8 8 97 5 the Socialist
People's Party

3 3 44 6 other parties
55 56 704 7 don't know
0 2 8
1 17 9 Uoplyst
100 100 1278

Svarprocent: 99

e V50 7005 PARTY BEST ECONOMY
o ion rring in om

o 69. Which of the parties, in your opinion, is most capable of ensuring an economic stability?

% MD% Antal Kode Kategori

24 24 302 1 the Social
Democratic
Party

5 5 66 2 the Social
Liberal Party

12 12 154 3 the
Conservatives

92 4 the Liberals

1 1 13 5 the Socialist
People's Party

0 0 5 6 other parties
48 49 617 7 don't know
1 14 8
1 15 9 Uoplyst
100 100 1278

Svarprocent: 98

e V51 7005 P.A.Y.E. TAX
o Questions occurring in om

o 70. The Pay-As-You-Earn-System has now been in force for some months. Are you for or against this system, i.e. that
the tax is deducted from the wage?

% MD% Antal Kode Kategori
72 73 924 1 for
14 14 183 2 against
13 13 164 3 don't know
1 7 9 Uoplyst
100 100 1278

Svarprocent: 99



e V52 7005 DIS.:NONE
o ion rring in om

o 71. What disadvantages, in your opinion, are connected with the present system? No

% MD% Antal Kode Kategori
37 48 470 0 not

mentioned
39 52 500 1 mentioned
24 308 9 Uoplyst

100 100 1278

Svarprocent: 76

e V53 7005 DIS.:ADMINISTRATION
o Questions occurring in om

o 71. What disadvantages, in your opinion, are connected with the present system? Administration too expensive/too
much administration/awkward

% MD% Antal Kode Kategori
71 93 901 0 not

mentioned
5 7 69 1 mentioned
24 308 9 Uoplyst

100 100 1278

Svarprocent: 76

e V54 7005 DIS.:IMPRACTICAL
o ion rring in om

o 71. What disadvantages, in your opinion, are connected with the present system? Impractical/troublesome/too
expensive for independent trademen

% MD% Antal Kode Kategori
73 96 927 0 not

mentioned
3 4 43 1 mentioned
24 308 9 Uoplyst

100 100 1278

Svarprocent: 76

e V55 7005 DIS.:IND. TAXATION
o Questions occurring in om

o 71. What disadvantages, in your opinion, are connected with the present system? Individual rate of taxation too
high/individual rate of taxation too arbitrary

% MD% Antal Kode Kategori
71 93 906 0 not

mentioned
5 7 64 1 mentioned
24 308 9 Uoplyst

100 100 1278

Svarprocent: 76

e V56 7005 DIS.:EMPLOYERS
o Questions occurring in om

o 71. What disadvantages, in your opinion, are connected with the present system? The problem of getting the money
from the employers

% MD% Antal Kode Kategori

76 99 965 0 not
mentioned

0 1 5 1 mentioned



24 308 9 Uoplyst
100 100 1278

Svarprocent: 76

e V57 7005 DIS.:COLLECTION
o Questions occurring in om

o 71. What disadvantages, in your opinion, are connected with the present system? Employerss collection and re-
adjustment

% MD% Antal Kode Kategori
75 99 956 0 not

mentioned
1 1 14 1 mentioned
24 308 9 Uoplyst

100 100 1278

Svarprocent: 76

e V58 7005 DIS.:NO FREEDOM
o Questions occurring in om

o 71. What disadvantages, in your opinion, are connected with the present system? Independence of people is
deprived/the state should not administer the peoples money

% MD% Antal Kode Kategori
73 96 933 0 not

mentioned
3 4 37 1 mentioned
24 308 9 Uoplyst

100 100 1278

Svarprocent: 76

¢ V59 7005 DIS.:OVERTIME TAX
o Questions occurring in om

o 71. What disadvantages, in your opinion, are connected with the present system? Working overtime is taxed
excessively/too expensive on the whole

% MD% Antal Kode Kategori
75 99 962 0 not

mentioned
1 1 8 1 mentioned
24 308 9 Uoplyst

100 100 1278

Svarprocent: 76

¢ V60 7005 DIS.:PENSIONERS TAX
o Questions occurring in om

o 71. What disadvantages, in your opinion, are connected with the present system? The taxation of old age pensioners is
excessive

% MD% Antal Kode Kategori
74 98 946 0 not

mentioned
2 2 24 1 mentioned
24 308 9 Uoplyst

100 100 1278

Svarprocent: 76

e V61 7005 DIS.:2 TAX RETURNS
o Questions occurring in om

o 71. What disadvantages, in your opinion, are connected with the present system? Sending in of two tax returns



% MD% Antal Kode Kategori
75 99 959 0 not

mentioned
1 1 11 1 mentioned
24 308 9 Uoplyst

100 100 1278

Svarprocent: 76

e V62 7005 DIS.:OTHERS
o Questions occurring in om

o 71. What disadvantages, in your opinion, are connected with the present system? Others

% MD% Antal Kode Kategori
72 94 916 0 not

mentioned
4 6 54 1 mentioned
24 308 9 Uoplyst

100 100 1278

Svarprocent: 76
e V63 7005 DIS.:DON'T KNOW
o tion rring in om

o 71. What disadvantages, in your opinion, are connected with the present system? Dont know

% MD% Antal Kode Kategori
63 83 801 0 not

mentioned
13 17 169 1 mentioned
24 308 9 Uoplyst

100 100 1278

Svarprocent: 76

e V64 7005 TAX RELIEFS
o Questions occurring in om

o 73a. The Government has proposed that three price index allowances should be dropped and a tax relief should
compensate for these instead: Are you for or against such a proposal?

% MD% Antal Kode Kategori
37 37 467 1 for
35 35 445 2 against
28 28 363 3 don't know
0 3 8
100 100 1278

Svarprocent: 100
e V65 7005 AGAI.:NO COMPENSAT.
o tion rring in om

o 73b. (If against) - Why? No compensation/dont believe in tax reliefs/is(are) fooled

% MD% Antal Kode Kategori
28 83 352 0 not

mentioned
6 17 71 1 mentioned
67 855 9 Uoplyst

100 100 1278

Svarprocent: 33

e V66 7005 AGAI.:LABOUR AGREE.



Questions occurring in om

o 73b. (If against) - Why? Interfere in the labour agreement/interferences in existing agreements/interferences in the
right of organization

% MD% Antal Kode Kategori
26 78 328 0 not

mentioned
7 22 95 1 mentioned
67 855 9 Uoplyst

100 100 1278

Svarprocent: 33

e V67 7005 AGAI.:WAGE EARNERS
o Questions occurring in om

o 73b. (If against) - Why? The wage earners are the victims

% MD% Antal Kode Kategori
27 82 346 0 not

mentioned
6 18 77 1 mentioned
67 855 9 Uoplyst

100 100 1278

Svarprocent: 33

¢ V68 7005 AGAI.:PRICES/WAGES
o Questions occurring in om

o 73b. (If against) - Why? When goods are going up, the wages must go up as well

% MD% Antal Kode Kategori
31 94 398 0 not

mentioned
2 6 25 1 mentioned
67 855 9 Uoplyst

100 100 1278

Svarprocent: 33

¢ V69 7005 AGAI.:FIXED PRICES
o Questions occurring in om

o 73b. (If against) - Why? Then there must be fixed prices and profits freeze

% MD% Antal Kode Kategori
31 93 395 0 not

mentioned
2 7 28 1 mentioned
67 855 9 Uoplyst

100 100 1278

Svarprocent: 33

e V70 7005 AGAI.:COST-OF-LIVI.
o Questions occurring in om

o 73b. (If against) - Why? Want that the cost of living allowance should be paid

% MD% Antal Kode Kategori
31 94 396 0 not

mentioned
2 6 27 1 mentioned
67 855 9 Uoplyst

100 100 1278

Svarprocent: 33



e V71 7005 AGAI.:NOT FAIR
o tions occurring in om

o 73b. (If against) - Why? Is not fair enough

% MD% Antal Kode Kategori
30 91 387 0 not

mentioned
3 9 36 1 mentioned
67 855 9 Uoplyst

100 100 1278

Svarprocent: 33

e V72 7005 AGAI.:OTHERS
o Questions occurring in om

o 73b. (If against) - Why? Others

% MD% Antal Kode Kategori
29 87 367 0 not

mentioned
4 13 56 1 mentioned
67 855 9 Uoplyst

100 100 1278

Svarprocent: 33

e V73 7005 AGAI.:DON'T KNOW
o Questions occurring in om

o 73b. (If against) - Why? Dont know

% MD% Antal Kode Kategori
31 94 397 0 not

mentioned
2 6 26 1 mentioned
67 855 9 Uoplyst

100 100 1278

Svarprocent: 33

Instrumentering

Hovedsekvens

Main Sequence

V3: Omnibus number
V4: Sequence number
: Duplicate indicator/weight variable
1. Month:
8. Urbanization:
1 12a. Sex:
1 12b. Age:
: 12c. Marital status:
: 13. Respondents occupational status:
: 14a. Education:
: 14b. Income of respondent:
: 15. Total income of family:
: 16. Supporters occupation:
: 17a. Total number of persons (in household):
: 17b. Type of dwelling:
: 18a. Number of children under 15 years:
: 18b. Number of adults in household (15 years or more):
: 18c. Respondents position in household: Head of the family
: 18c. Respondents position in household: Housewife
: 18c. Respondents position in household: Other adult
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: 19a. Position of housewife:

: 19b. Social group:

: 20/21. Did you vote at the last general election (January 1968). - Which party did you vote for?

26: 22/23. For which party would you vote in case of general election tomorrow?

27: 60a. The basis of the so-called terror balance is that the two giant powers the United States and the Soviet Union
hold each other in chess due to their overwhelming military power. What would you prefer: that the United States were
strongest or the Soviet Union?

V28: 60b. Which of the two giant powers the United States and the Soviet Union do you think is the strongest from a
military point of view?
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o V29: 60c. Which of the two countries do you think is the strongest in 10 years?
o V30: 61a. The Great Powers are having talks at present trying to reach an agreement about a joint limitation of the so-

called armament race. Do you think that the two Great Powers will be able to reach an agreement or discontinuation of
the armaments?

o V31: 61b. Which of the parties, on the whole, is right in the dispute between Israel and the Arabian countries?
o V32: 61c. And now a different question. If a referendum was going to be held and you might choose between an

electoral age of either 20 or 21 years, what would you vote for then?

o V33: 61d. If you might choose between 18 or 21 years, what would you vote for then?
o V34: 62a. Do you think that the present government has done well, fairly well or not well during the time in office?
o V35: 62b. Which of these problems, in your opinion, should be given preference in order to solve it? The housing

problem
V36: 62b. Which of these problems, in your opinion, should be given preference in order to solve it? The economic
problem
V37: 62b. Which of these problems, in your opinion, should be given preference in order to solve it? The pollution
problem

o V38: 62b. Which of these problems, in your opinion, should be given preference in order to solve it? The traffic problem
o V39: 62b. Which of these problems, in your opinion, should be given preference in order to solve it? Development of

the social services

V40: 62b. Which of these problems, in your opinion, should be given preference in order to solve it? Development of
the health services, i.e. hospitals and similar services

V41: 62b. Which of these problems, in your opinion, should be given preference in order to solve it? Assistance to
development countries

V42: 63a. The present government consists of three parties: the Liberals, the Conservatives and the Social Liberal
Party. Which of these three parties, in your opinion, has got the greatest influence on the policy pursued by the
Government: the Liberals, the Conservatives or the Social Liberal Party?

o V43: 63b. Which of the parties has got less influence?
o V44: 64a. Do you think that the present government will remain in office for the full election period?
o V45: 64b. Do you think we get a new non-Socialist government, consisting of the three parties: the Liberals, the

o 0o o o o
<

o

Conservatives and the Social Liberal Party after the next election?

V46: 65. And now some questions about the political parties. Which of the political parties, in your opinion, is doing the
best work as far as employment is concerned?

V47: 66. Which of the parties do you think is doing the best work regarding social security?

V48: 67. Which of the parties shows more favour to the employees?

V49: 68. Which of the parties is most unprejudiced?

50: 69. Which of the parties, in your opinion, is most capable of ensuring an economic stability?

V51: 70. The Pay-As-You-Earn-System has now been in force for some months. Are you for or against this system, i.e.
that the tax is deducted from the wage?

V52: 71. What disadvantages, in your opinion, are connected with the present system? No

<

o V53: 71. What disadvantages, in your opinion, are connected with the present system? Administration too

o 0o o o

o

expensive/too much administration/awkward

V54: 71. What disadvantages, in your opinion, are connected with the present system? Impractical/troublesome/too
expensive for independent trademen

V55: 71. What disadvantages, in your opinion, are connected with the present system? Individual rate of taxation too
high/individual rate of taxation too arbitrary

V56: 71. What disadvantages, in your opinion, are connected with the present system? The problem of getting the
money from the employers

V57: 71. What disadvantages, in your opinion, are connected with the present system? Employerss collection and re-
adjustment

V58: 71. What disadvantages, in your opinion, are connected with the present system? Independence of people is
deprived/the state should not administer the peoples money

V59: 71. What disadvantages, in your opinion, are connected with the present system? Working overtime is taxed
excessively/too expensive on the whole

V60: 71. What disadvantages, in your opinion, are connected with the present system? The taxation of old age
pensioners is excessive

V61: 71. What disadvantages, in your opinion, are connected with the present system? Sending in of two tax returns
V62: 71. What disadvantages, in your opinion, are connected with the present system? Others

V63: 71. What disadvantages, in your opinion, are connected with the present system? Dont know

V64: 73a. The Government has proposed that three price index allowances should be dropped and a tax relief should
compensate for these instead: Are you for or against such a proposal?

V65: 73b. (If against) - Why? No compensation/dont believe in tax reliefs/is(are) fooled

o V66: 73b. (If against) - Why? Interfere in the labour agreement/interferences in existing agreements/interferences in

o o0 o o
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the right of organization

V67: 73b. (If against) - Why? The wage earners are the victims

V68: 73b. (If against) - Why? When goods are going up, the wages must go up as well
V69: 73b. (If against) - Why? Then there must be fixed prices and profits freeze

70: 73b. (If against) - Why? Want that the cost of living allowance should be paid
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: 73b. (If against) - Why? Is not fair enough
: 73b. (If against) - Why? Others
o V73: 73b. (If against) - Why? Dont know
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Undersekvenser

Universer

Univers
o Aldersgraenser

Dansk statsborgere pd 15 &r og derover, bosiddende i private husstande.

Koncepter

e Questions occurring in al
Questions occurring in all 1970 omnibus surveys

o V6 V7V8YVIOV10\V11V12V13V14V15V16 V17 V18 V19 V20 V21 V22 V23 V24 V25 V26

¢ Questions occurring in om
Questions occurring in omnibus no. 05.

o V27 V28 V29 V30 V31 V32 V33 V34 V35 V36 V37 V38 V39 V40 V41 V42 V43 V44 V45 V46 V47 V48

V71 V72 V73 e
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